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QUESTION 1

What is the result XQuery FLWOR expression when running the following scenario? 

A. Joe Smith 

B. Joe Smith  

C. Joe Smith  

D. Joe Smith DB2 

Correct Answer: A 

 

QUESTION 2

Given the following INDEX definition, which attributes apply to this index? (Choose two.) 
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A. The index is partitioned 

B. The index data sets are user-managed 

C. The index data sets are DB2-managed 

D. The index is unique and in ascending order 

E. The maximum total size of the index is 1 GB 

Correct Answer: AB 

 

QUESTION 3

You want to reduce lock contention that results from uncommitted insert and delete operations by enabling transactions
that read data to access only the currently committed data rather than waiting for the uncommitted changes to be
resolved. 

How can you accomplish this? 

A. Bind your application with ISOLATION(UR) 

B. Bind your application with ISOLATION(CS) 

C. Bind your application with CONCURRENTACCESSRESOLUTION (WAITFOROUTCOME) 

D. Bind your application with CONCURRENTACCESSRESOLUTION (USECURRENTLYCOMMITTED) 

Correct Answer: D 

Reference: https://www.ibm.com/support/knowledgecenter/en/SSEPEK_11.0.0/perf/src/tpc/
db2z_accesscommitteddata.html 

 

QUESTION 4

Which characteristic best describes a created global temporary table? 

A. Inserts are logged 

B. Rows are locked when they exist in the table 

C. They have permanent, shareable descriptions 

D. Access to rows can be shared across multiple processes 

Correct Answer: C 

Reference: https://www.ibm.com/support/knowledgecenter/en/SSEPEK_10.0.0/intro/src/tpc/
db2z_creationoftemporarytables.html 

 

QUESTION 5
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Which catalog table would you query in order to determine the relevant statistics for an index? 

A. SYSIBM.SYSKEYS 

B. SYSIBM.SYSFIELDS 

C. SYSIBM.SYSCOLUMNS 

D. SYSIBM.SYSINDEXSTATS 

Correct Answer: D 
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